
https://www.geekcert.com/hpe6-a48.html
2024 Latest geekcert HPE6-A48 PDF and VCE dumps Download

 

 

 

HPE6-A48Q&As

Aruba Certified Mobility Expert 8 Written Exam

Pass HP HPE6-A48 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/hpe6-a48.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

 

 

HPE6-A48 PDF Dumps | HPE6-A48 Exam Questions | HPE6-A48 Braindumps                                1 / 6

https://www.geekcert.com/hpe6-a48.html
https://www.geekcert.com/hpe6-a48.html
https://www.geekcert.com/hpe6-a48.html


https://www.geekcert.com/hpe6-a48.html
2024 Latest geekcert HPE6-A48 PDF and VCE dumps Download

QUESTION 1

Refer to the exhibit. 
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A network administrator deploys a new WLAN named Corp-Network. The security suite is WPA2 with 802.1X. A new
ClearPass server is used as the authentication server. Connection attempts to this WLAN are rejected, and no trace of
the attempt is seen in the ClearPass Policy Manager Access Tracker. However, the network administrator is able to see
the logs shown in the exhibit. 

What must the network administrator do to solve the problem? 

A. Add the correct network device IP address in ClearPass. 

B. Change the ClearPass server IP address in the MC. 

C. Fix the RADIUS shared secret in the MC. 

D. Disable machine authentication in the MC and client PC. 

Correct Answer: D 

 

QUESTION 2

A bank deploys an Aruba Mobility Master (MM)-Mobility Controller (MC) solution to provide wireless access for users
that run different applications on their laptops, including SIP-based IP telephony. When users only run the IP telephony
software, call quality is high. However, if users also run email, web, or mission critical applications, then voice quality
drops. 

Which feature would help improve the quality of voice calls over the air when users run different applications? 

A. DSCP for IPv4 traffic 

B. WiFi Multi Media 

C. Type of Service 

D. High/Low Queue 

Correct Answer: A 

 

QUESTION 3

A network administrator deploys AirWave over a Mobility Master (MM)-Mobility Controller (MC) network to monitor,
audit, and report activities. The main areas of concern are with high user density, not enough APs, or not enough
channel bandwidth. 

Which two report options can the network administrator user to create a weekly report that shows networking equipment
with more users and high-demand applications used by top talkers? (Select two.) 

A. Most Utilized Folders by Maximum Concurrent Clients 

B. Most Utilized by Usage 

C. Top Applications Summary 

D. Most Utilized by Maximum Concurrent Clients 
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E. Top 3 Applications For Top 10 Users 

Correct Answer: BD 

 

QUESTION 4

Refer to the exhibit. 

A user reports show response time to a network administrator and suggests that there might be a problem with the
WLAN. The user\\'s laptop supports 802.11n in the 2.4 GHz band only. The network administrator finds the user on the
Mobility Master (MM) and reviews the output shown in the exhibit. 

What can the network administrator conclude after analyzing the data? 

A. Client health is low, and retried frames are high. It is possible there is high channel utilization. 

B. Client health is low, but SNR is high. It is possible data in the dashboard is not accurate and needs to be updated. 

C. The speed is good. Client health seems to be related to a problem with the client NIC. 

D. The network is low because of low SNR. TX power must be increased in both the client and the AP. 

Correct Answer: B 

 

QUESTION 5
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Refer to the exhibits. Exhibit1 

Exhibit 2 

Based on outputs shown in the exhibits, what is the reason that AP12 is seen by two different controllers? 

A. AP12 connects to a high availability group. MC1 is the active controller, and MC11 is the standby controller. 

B. AP12 is a multizone AP. MC1 is part of the primary zone, and MC11 is part of the datazone. 

C. AP12 connects to an MC cluster. MC1 is the A-AAC, and MC2 is S-AAC. 

D. AP12 is in the middle of the boot process. MC1 is the master IP controller, and MC11 is the LMS IP controller. 

Correct Answer: B 
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